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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 32
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 32
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 32

2.7E-02

2.6E-02 1

2.5E-02 4

2.4E-02 +

2.3E-02 -

A(P?)/Q = 1E-05Q + 0.0153
R%=0.7795

<0 L) 30 "WORY

2.2E-02 1

A(P?)IQ, psia’l(cc/min)

24E-02 4

2.0E-02 {——1—
O
1.9E-02 '. , , . [ . . . \ . . ‘
450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100
Q, cc/min

[ 0 D(P2)/Q ==Linear (D(P2)/Q) |

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 33
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Log-Log plot of differential pressures squared vs. flowrate--used to identif_y the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 33
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 33
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 34
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 34
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 34
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 35
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 35
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 35
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 36

24 T
|
? 20"l A(P?) = -3E-05Q° + 0.079Q - 22.782
> R? =1
Q T E— ]
3}\ T | | | | | | - n
Z 8,1 APH=2E-06Q%+0.0184Q | SLF AP = 0.0201Q
7 1S R? = 0.9533 | | R? = 0.9497
< : — 5 :
81 )
| | |
o o | A(PY)=0.0221Q-1.7615
| | | R? = 0.959
0 r I I I | 1 i I |
0 100 200 300 400 500 600 700 800 900 1000 1100 1200

Q, cc/min

| O D(P2) =Poly. (D(P2)) =Poly. (D(P2)) = Linear (D(P2)) =—Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 36
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 36

2.2E-02 -O-

8l

21E-02 {—

2.0E-02 ﬁ

1.9E-02

A(PH/Q = 4E-06Q + 0.0162
R? = 0.2097

1.8E-02

A(PZ)IQ, psia’/(cc/min)

1.7E-02

16E‘02 T T -

450 550 650 750 850 950 1050

Q, cc/min

| o D(P2)/Q =—Linear (D(P2)/Q) |

1150

‘?O/ H’/go "L NY

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 37
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log1o(A(P?))

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 37
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 37
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 38
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 38
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 38
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 39
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 39
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 39
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.

X Transect: Drillhole 40
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when when the slope is non-zero and positive.
X Transect : Drillhole 40
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 41
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 41
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| | Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 41
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 42
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 42
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 42
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 43
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 43
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 43
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 44
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 44
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 44
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 45
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 45 .
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 46
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Log-Log plot ofldifferential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 46
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 47

28 :
|
24 1 T =] T
' |A(P%) = 3E-06Q° + 0.0204Q
S R* = 0.9469
7o e |
~= o = ) : . B
N%Q_WWA(P ) ROZ.(3265Q 2.7577 A(P?) = 0.02320
el R? = 0.9404
8 | | — | |
i ; |
Al A(P?) = -4E-05Q% + 0.0819Q - 22.228
| 2 _
R% =1
0 - —< . , . . . . . . ;
0 100 200 300 400 500 600 700 800 900 1000 1100

Q, cc/min

ro D(P2) =—Poly. (D(P2)) ===Poly. (D(P2)) =—Linear (D(P2)) ==Linear (D(PZ)H

6V



0S

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 47
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 47
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 48
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 48
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 48
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 49
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 49
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 49
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 50
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 50

2.65E-02

2.55E-02 -

2.45E-02 {——

2.35E-02 -

2.25E-02 -

2.15E-02 |-

2.05E-02 +

A(P?)IQ, psia’/(cc/min)

|A(P?)/Q = 8E-06Q + 0.0161
| R?=0.3684

1.95E-02

1.85E-02 |-

1.756-02 —9 . . | | . | | |
450 500 550 600 650 700 750 800 850 900 950

1000 1050 1100

Q, cc/min

| O D(P2)/Q =——Linear (D(P2)/Q) |

tofLefee T wW Ny

Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 51
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 51
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 51
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 52
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 52
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 52
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 53
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 53
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 53
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 54
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 54

1.45 l

| | /
| | | e o
1.35 1 | S . 1 |

1.25 | — S "“--ir"-'“-“ O ey _{- 4
’ ]

o < i u
g :66 1.15 —t — »-—»—1%»~—— J% —‘
S 3 | 3
m - S e
‘? 1.0 o | = >[A | D, 05/19/03
9“? / | log10(D(P2)) = og1 0(Q) - 2.4193
o i . R? = 0.9363
O | |
o I I 3.05 3.10
2.85 2.90 2.95 3.00
2.65 2.70 2.75 2.80 8 |og10(Q)

- \ O 05/19 /03
) ‘o do see explarshion 70 .
This page is ¥ replass o \X“‘&)o log(D(P2)) —mﬁ: (log(D(P2)))



¢l

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 54
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 55
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 55
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. Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 55
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Relationship between steady-state differential pressures squared and flowrate:
if relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 56
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Log-Log plot of differential pressures squaréd vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 56
1.50
1454+
2
140 1——logo(A(P?) = 0.8275l0g+4(Q) - 1.2433
135 4— R2 = 0.9999
2 R | A |
| 3
3 2 1B
= >
Q 2y
Co
o 1.15
~
Qs\ 1104
St |
1.05 4 |
1.00 ﬁ . ﬁ . —
2.70 2.80 2.90 3.00 3.10 3.20 3.30

log40(Q)

[ O log(D(P2)) =Linear (log(D(PZ))ﬂ

Ll



~
=)

. Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 56
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 57
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log1o(A(P?)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 57
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 57
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 58
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 58
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 59
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 59
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 59
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drilthole 60
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow-effects (when the slope is greater than unity)
X Transect: Drillhole 60

—

1.35 L IR e S I S—
1304 e S

4 4l SN ¥ STEEEG T (s S S NCS

{ {

i | |
| | |

! i
| | | | |

274 2.79 2.84 2.89 2.94 2.99 3.04 3.09 3.14 3.19 3.24
log+0(Q)

| O log(D(P2)) =—Linear (log(D(P2))) |

88

68



€0) Le| 50 " WY

€of Le/3p Wiy

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 60
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 61
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logio(A(P?))

A(P?)IQ, psia®/(cc/min)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than u
X Transect: Drillhole 61

nity)
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Final check for high velocity flow effects:
High velocity flow effects-are present when the slope is non-zero and positive.
X Transect : Drillhole 61
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 62
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
" X Transect: Drillhole 62
1.55
1.50 | — ,
sl logso(A(P?)) = 0.833110g14(Q) - 1.1674
R” = 0.9952
1.40 |-
NQ_-, 1.35 |
g
D 1.30 |-
L)
1.25 -
1.20 -
1.15 -
1.10 - . : . ; . : . . , !
2.69 2.74 2.79 2.84 2.89 2.94 2.99 3.04 3.09 3.14 3.19 3.24
l0g44(Q)

‘ O log(D(P2)) === Linear (log(D(P2)))J

v6

G6



%o Lﬁ[ 0w

o/ cefso W)

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
X Transect : Drillhole 62
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
X Transect: Drillhole 63
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
X Transect: Drillhole 63
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

X Transect : Drillhole 63
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